EE223 Collaborative Problem Solutions Lecture 35
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If wv(t) = 155.6 cos(2m60t + 85°)V
and i(t) = 565.7 cos(2m60t + 15°) mA

Find

a) Vguys and Ipps phasors.
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b) Complex power phasor (include units). Draw power triangle;

SV s T, = (rol8Xo4) = [TV

T =[1s1+j4.3v4)
D
BN
10° > Re
fz1S. W

c) Apparent power (include units).

5= [5{- [i9vA )

d) Real power (include units).
P= R ES% = L/‘{cos(70°) =lisiw (or) ‘Fom M‘”‘ﬂ" above)
e) Reactive power (include units).

Q-_- IMZS‘S = qqsin(70°) = 1—4//. 3 VAZ—\ {of, 1co- -H.'Mj" above)

f) Power factor (include leading or lagging).
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g) Load impedance in Q.
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h) Model of load impedance as series RL or RC.
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i) Average power dissipated in load (include units)
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